MR A INER
AER:FH3F8A6H

&2 AEBH A=
Tm 50cm Ocm

1 N EAES] 0.082 0.090 0.092
2 S/INEBRIRKTR 0.084 0.092 0.104
3 EBYBRTIL-F050 0.078 0.076 0.080
4 BYBTREL 0.072 0.076 0.070
5 REEXE 0.082 0.088 0.090
6 AKEEEREL 0.090 0.094 0.100
7 ABEEEEmREL 0.110 0.132 0.154
8 BEEMKTR 0.082 0.074 0.084
9 BYBTIL-F/9Q 0.092 0.102 0.106
10 |REARKIRD 0.084 0.084 0.090
11 BREEMEL 0.072 0.076 0.102
12 REEMRAKITRD 0.076 0.078 0.102
13 |RERMAKTRQ 0.082 0.088 0.088
14 |RERMRKIRQ 0.098 0.088 0.088
15 REEMKIRD 0.100 0.102 0.090
16 |BREARKIRQ 0.084 0.098 0.122

&XE 0.110 0.132 0.154

=/ME 0.072 0.074 0.070

FHiE 0.086 0.090 0.098




